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Period: Electricity In Class Review

1. A) A24pC charge and a—1.2 pC are 6 mm away from 2. Ifanobject is negative, did r lose electrons?
each other. Calculate the force between them.

_ 24y % ;ub" (.2x10~¢ 3. Howmuch charge do 25 electrons have?
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B) Will the two charge@r repel each other? 4. An object has a charge of —3.2uC object. How many
C) Ifthe 24 pC charge touches ground what will happen? electrons gid it gain or lose?

electons Flow Fo it Hom grovd ~2.Zx0 C = l =2 0x1076.
D) Ifthe distance between them is doubled, by how much i cleolx ™% g=twed

does the force change? ‘/ Y Ce is s¢ ) 5. Why can an object not gain a charge equal to
E) If one of the charges was halved, by how much does 15.6 electrons?
the force change? I/Z can't have p;r‘}- of-&

6. By the direction of the 8. A. Will the two charges attract

electric field, decide if ( '/"\ 7 och other?

the charges are positive

or negative. \‘ AT 7 B. To increase the potential @ @
stbect @ @ —» energy between the two

e e
7. When do two charges charges, should you pull
attract each other? /' —

e apart or push them
=N

9. A positively charged rod is N iy 10. Decide which of the wires has the most resistance.
+++++ @

brought close to a conducting A Awire at 5°C OR a wire af15°C. ) hotte v
sphere. B. A thick2m¥ire OR a thick Zemiwire. lenger

A. Did the rod gain olectrons‘? l C. Athick 2cm long wire OR aGhig2cm lonwi%

B. Which side of the sphere will be D. A wire made of silver OR a wire made of(Copper?

negative? Jeft L1 |11. What do we call a substance with no resistance at very
low temperatures? <, percondv ctov™

12. Comparing circuits to water: resistor, battery, switch, wire, —— - - -
light bulb, diode, or capacitor? 13. Draw a circuit with 2 batteries, a switch, and two light

A, _batdery A water pump. bulbs in series.
B. w,re” A pipe. e
C.Cwitech A valve or faucet. l

D. _lizht A water wheel (does something useful).

E.¢apac: A water tower (gives temporary pressure). }
F. resi> Arestriction ina pipe. <
G. dinde A one-way valve.

14. Slim Jim falls off of a n
Il:g::'ﬁnlginaé’lig;:‘l]): l?i!::xze?f. 1T 16. Which switcheg would need? G
A. Givetwo reasons why m A, For "“W resistor 2 -0
he is safe. to be on? 2
i) Both hands are at the same voltage, so no voltage ﬁ J Ft D /\/\/\
difference. 2) wire is less resistance than Jim (short circuit) B. To short circuit 1 O/(}
the battery? F E <\
B. Why would touching the ground be bad? C. D ‘-;3
Then there is a difference of voltage - ouch! ) A
C. For only resistors D 3
15. Fuse or circuit breaker? 1 and 2 to be on? sl oo
A._C & Canbe reset. A6 &, FD C ’
B. RBuot) Protects against too much current. ) U f
C. _[Fuse Must be replaced. | ond 2 woo in F&‘F&Hfl |

cstephenmurray.com Copyright © 2010, C. Stephen Murray



Electricity In Class Review

17. A. Electricity is moving electrons |
Trapped in nucleus by strong nuclear force.

18. Voltage Pugh-&ﬁ , current

B. Why can’t protons move?

w5  andresistance restric +§ the flow of current.

19. Ammeter, voltmeter, or chmmeter? Tv ) 4
A Meter A: yolT3 o/
B. Meter B: ;MI’??‘}E'" 5,250 v
C. Meter C: v2IT5 4 5
D. Meter D: g mmofer” S A— <7} \]/1 ¥ o
E. Meter E: ohh wreter™ >0 B
F. What does Meter A read? &V i C)
G. What does Meter D read? 15 A v _ 30 30
FSA T
H. What does Meter Bread? 2-
L What does Meter E read? 4 (1 5 2.35h o
-
“TSA
= =53V
SHIo 20. Use the circuit at the left to answer the following.
2y vEIe IZU-:S'TZ‘ 2v A Isit r parallel circuit?
B. Ifthe 10Q resistor is removed, how would the current
change?
inevease €uey here
6V C. If oneofthe batteries is replaced by a 3V battery, how would
) the current change? decresse everyw hewve
v=,5%(8 _
2 <hv D. Lgw=,S3HA _ 22
6V
E. What is the voltage used by the 10Q resistor?
57 vt =T R
Fo Vag? y2-53=63v
30 G. Peg? =v.I.
V=re=sHEF sl
p= sl
ﬁ,;]: L= 3 4 ‘i)
21. Usethe circuit at the right to answer the following, \ % ~ g v
A, Isitaseries orcuit? \?J J
B. Vitreencetom2105 = J/ v
C. What is the total resistance between oy J/ 40 LA VS0
points 4 and 11 (branch 1)? 6 SL J/ L
s 3Q NS
Do lmpans=  3A e @)y 12
E. Ithe4Q resistor was@emeve , how would 203 50
the total current change? ncve>5¢
F. If branch 3 was broken at point 7, how would oV 1esS A 254 1LSA
the current flowing thru the 4Q resistor f"‘*“ s aA—""_ 5
N o/
change? no chonge oV Oy
G. Igomiown= + 5%
H Lo = )OgA
I Raa= | 7140 (g
y=T Rk VE=10.5 D K. Pua= )V T
1. Vatpoint8=év lg( 0. Sﬂ)
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